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#include <stdio.h>
#include <stdlib.h>
#define X 3
#define Y 4
void funA(int *, int, int), funB(int *, int, int);
int main(void){
int arr[X]LY] = {{1.2,3,4}.,{5,6,7,8},{9,10,11,12}};
printf("ﬁﬁﬂ].:\n");
funA(C*arr,X,Y);
funB(*arr,X,Y);
printf("ﬁi%l 12 :\n"");
funA(C*arr,X,Y);
system(*'pause’™);
return O;

by

void FfunA(int *ptr,int x,int y){
int 1,j;
for (1=0;i<x;i++){
for(=0;j<y;j++)
printf("%3d ", *(ptr+i*y+j));
printf('\n"");
+
+

void funB(int *ptr,int x, Int y){
int 1,j;
int arr[x]Lvl:;
for (1=0;iI<x;i++)
for(=0;j<y;j++)
arr[x-i-1][y-j-1] = *(ptr+i*y+j);
for (1=0;i<x;i++)
for(J=0;j<y;j++)
*(ptr+i*y+y) = arr[i]llil;
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S iR FELFRELT 5] Python A2 ¢ AR g1 P gt AR S 0 i S e 7 (154)
01 while(True):

02 number=input(*'3- i~ X = fiﬁi:ﬁﬂ?ffﬁi:fﬁi\‘ﬁ%] ~TQRR QTR R AN
03 iT(number_upper()!'="Q"):

04 while(len(number)<3):

05 number:input("ﬁi%J »EL PR = Rl E %‘rﬁi%l ~ ™

06 listA = []

07 for x In number:

08 lListA.append(int(x))

09

10 var=0

11 for y in ListA[O:len(listA)-1]:

12 var+=y

13 iIT (var®%l0==listA[-1]):

14 print(var%10, listA[-1], number, ’is acceptable™)
15 else:

16 print(var%10, listA[-1], number, ’is unacceptable™)
17 else:

18 break
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#include<stdio.h>
#include<stdlib.h>

int funA(int x), funB(int y);

int main(void){

printf("funA(5)=%d, funB(5)=%d\n"*, funA(5), funB(5));
return O;

int funA(int x){
int 1, answer=1;
1T(x<1)

return -1;
for(i=1;i1<=Xx;i++)

answer*=(1*2);
return answer;

int funB(int y){

if(y<1)
return -1;
else 1T(y==1)
return 3;
else

return 3*y + funB(y-1);
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